Berechne mit Hilfe der partiellen Integration:

fxexdx=xex—jexdxz(x—l)ex+c

jx sin(x) dx = —x cos(x) — f —cos(x) dx = —x cos(x) + sin(x) + ¢
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f 3x e* dx =3x e* |(1)—j 3e* dx =3e —0— (3e¥)|} =3e —3e+ 3e°
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j i 2x cos(x) dx
' = (2x sin(x))|7"

— f27f2 sin(x)dx =0— (—2cos(x))|?® =—(-2-2)=4

fxzex dx = x%e* — j 2xe* dx = x%e* — <2xex — f Zexdx>
= (x?—-2x+2)e*+¢

Die partielle Integration wird 2x durchgefiihrt!
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fﬂ ax?sin(x)dx = a [—xz cos(x)|T — j —2xcos(x) dx]
0 0

T

=a !(n)z +0+2 <x sin(x) |F — j sin(x) dx>]
0
= a[(m)? + 0 + 2 cos(x) |7]

= a[(m)? + (=2 -2)] = a(n* - 4)
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